=2 am N
| R VWV = \4) il

-

. 8

“
Y /[

\

-

JE

[ -

.

[ Mathematics }

Quadratic Equations

=

By - Ashish Agarwal Sir .

Lect -
(17 Kanpur)

J




TOPICS © fecovere

@ Question Practice on Common Root

Graph of a Quadratic polynomial

@ Practice problems




Homework Discussion






QUESTION [JEE Mains 2021] )

Let a, B be two roots of the equation x* + (20)1/ *x + (5)Y2 = 0. Then o® + B2 is equal to
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' QUESTION [JEE Mains 2023] )

Let o, B be the roots of the equation x? — v/2x + 2 = 0. Then a* + * is equal to
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Home Challenge - 07> )(f_ 3 =—ve LS

(=31 G5)%-(18-x) _

V=X(—x2+x-1)(|x]|]—37)
then value of nis /
—x>0 =) x<0

Let n be the number of integers satisfying the inequality

X

.
.

p——
. ——

(x-3)7>.. Ix-S| (1&8-%x) <o
Jx (-7«1'1’7\’\) (-x-g‘l)
Fﬁ(o

<o

\Y
sayz -
No: of hriegried vodues N o
0‘5\;& 0- € 37) - 1= 3¢ P (}'3\ i S}*S) » (1R-X)

7




oo @
Home Challenge - 07) x-5] =~ v—5) WY
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(x-3)-/(x=5)2-(18-x)
J=x(—x2+x-1)(|x|-37)

Let n be the number of integers satisfying the inequality

then value of nis /
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QUESTION [JEE Mains 2022 (25 June)] )

Let a,b € R be such that the equation ax? — 2bx + 15 = 0 has a repeated root c.
If « and B are the roots of the equation x?> — 2bx + 21 = 0, then a? + B2 is equal to:
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QUESTION [JEE Mains 2022 (25 June)] )

Let a,b € R be such that the equation ax? — 2bx + 15 = 0 has a repeated root c.
If « and B are the roots of the equation x* — 2bx + 21 = 0, then o? + B2 is equal to:
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QUESTION [AIEEE 2008] ) @

The quadratic equations x? — 6x + a = 0 and x* — ¢cx + 6 = 0 have one root in common.
The other roots of the first and second equations are integers in the ratio 4 : 3. Then the
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QUESTION [JEE Mains 2021 (26 Aug)] )

Let A # 0 be in R. If a and B are the roots of the equation x* —x+ 22 =0, and a and y

are the roots of equation 3x? — 10x + 27A = 0, then % is equal to
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QUESTION [1IT-JEE 2006 ] ) W HKCLSH %

Let a and b be the roots of the equation x* — 10cx — 11d = 0 and those
x? —10ax—11b =0 arec,d thenthe valueofa+ b+ c+d, whena# b #c #d, is
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QUESTION ) O @

The equations kx* + x + k = 0 and kx* + kx + 1 = 0 have exactly one root in common for
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QUESTION ) *H*ASRQ X ¥ @

The equations kx* + x + k = 0 and kx* + kx + 1 = 0 have exactly one root in common for
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QUESTION ) e @

If the quadratic equation x* + bx + ¢ = 0 & x* + cx + b = 0(b # ¢) have a common root
then prove that their uncommon roots are the roots of the equation x* + x + bc = 0.
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RO ) *AASRQ

If the quadratic equations x* + ax + 12 = 0 and x* + bx + 15 = 0 and
x%? 4+ (a+ b) x+ 36 = 0 have a common positive root find 'a' and 'b' and the root of the

. o 3
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[Ans.a=-7,b=-8; rootsare (3,4), (3,5) and (3, 12)]



QUESTION ) *H*ASRQY ¥

If the equations x® + x? — 4x = 4 and x* + px + 2p = 0(p € R) have two roots common,

then the value of p is / o P
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QUESTION ) T A KCLSH

The equations x> +4x*+px+q=0 and x® + 6x*+ px+r =0 have two common
roots, where p, g, r € R. If their uncommon roots are the roots of equation
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QUESTION ) (x-2) xt3x+2"

X —6X +?/2'
If x? + 3x + 5 is the greatest common divisor of
(x3 + ax? + bx + 1) and (2x3 + 7x? + 13x + 5) then find the value of [a + b].

[Note: [K] denotes greatest integer less than or equal to k]
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QUESTION ) YA ASRQ ¥ 3

NS

If Q;(x) =x%+ (k—29)x—k and Q,(x) = 2x* + (2k — 43)x + k both are factors of
cubic polynomial, then largest value of k is (where Q,(x) & Q,(x) are not perfect squares)
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Analysis of a Quadratic Polynomial)

P(x)= @X+ bx+C ) @0
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Solution to Previous Home Challenge












